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SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 327,168
307 glz2tol & 408,960 120,000 288,960
< 81,792
s 327,168
02 It M AHE X 408,960 120,000 288,960
OWd=s0ge d=H*H™ X3 AHY
200,000& *2,272% 90/ 100 408,960
< 81,792
e 327,168
SUZHTZ Ol XXM K& AL 150,000 150,000 0
S 45,000
s 105,000
307 glz2tol & 150,000 150,000 0
< 45,000
s 105,000
08 OIXtE2& = 150,000 150,000 0
O=LEHIZS Ol XXH X3 AL
75,000,000& »23| 150,000
< 45,000
s 105,000
S HAMS ALY 14,400 21,940 AT,540
201 ¢er24| 14,400 21,940 AT,540
01 At 224l 14,400 21,940 AT,540
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3,000,000& =13l 3,000
OS=E daTEH 23 izl &==9 A
60,000& »203] 1,200
s (ZRFEH]) 3,000 6,600 A 3,600
203 YR =&y 3,000 6,600 A 3,600
04 EA2IYRFLH| 3,000 3,600 A 600
ORNM2Y 2 F=XHI(15210I5t)
250,000& 128 3,000
=g A¥HR =& 3,000 0 3,000
203 YR =&l 3,000 0 3,000
03 A F=XH S =AY 3,000 0 3,000
OAHMZ=A A2 =& 3,000,000& 3,000
=2 g2 FUE I 34,000 0 34,000
405 XtatE SHI 34,000 0 34,000
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 34,000 0 34,000
Os9 22 278 Mg 7Y
34,000,000 = 1CH 34,000
=& 3 24 2,244,640 1,908,820 335,820
= 1,122,320
< 224,464
s 897,856
JEMXEH 2,244,640 1,908,820 335,820
= 1,122,320
< 224,464
s 897,856
301 et d = 2,244,640 1,908,820 335,820
= 1,122,320
= 224,464
s 897,856
12 JIEBHE4 = 2,244,640 1,908,820 335,820
OZ&ABHAEN XA 2,244,640,000& x13] 2,244,640
= 1,122,320
< 224,464
s 897,856
SsHEXEIIZ SAALE 117,000 117,000 0
SHEXESIISAE 117,000 117,000 0
306 ¢ 3 117,000 117,000 0
01 &3 117,000 117,000 0
OsHELEIIS EXMMIG ANZEHS
117,000, 000& * 13| 117,000
e sgeleH X3 10,000 10,000 0
AT YA AKX 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
OXEZ =AM ALK
10,000, 000& * 12| 10,000
sSE ESHA HLAS 37,500 37,500 0
= 37,500
== 38 Ol0lssdH XA 37,500 37,500 0
= 37,500
301 et a3z 37,500 37,500 0
= 37,500
01 AR 2Z A5 3 37,500 37,500 0
Os& 23 Ol0lssdH 29d XN&
12,500,000 *30H A 37,500
= 37,500
sX2el X 2,260 2,180 80
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01 At 22l 3,000 2,000 1,000
Osgze ¥ 938 29|
3,000,000& 12 3,000
202 044l 6,660 6,660 0
01 = LH &4 1l 6,660 6,660 0
Osgad Ads gd3 AE 064l
60,000 37 32 13| 6,660
Aetd=se N (sEHY/ s - 5&) 18,254,953 15,820,617 2,434,336
= 9,690,113
=) 1,508,024
2 7,056,816
Y=Y SYXE 3,406,556 3,669,941 263,385
= 1,242,327
< 30,460
i 2,133,769
H XE SQ&I X2 85,000 85,000 0
307 glz2tol & 85,000 85,000 0
02 It HAMHEE 85,000 85,000 0
Ol XE Q&I X
1,000, 000& *170ha*50/100 85,000
NSESE ALY 200,000 200,000 0
301 gt d= 200,000 200,000 0
1224 = 200,000 200,000 0
OXSBACT HEBA AL
200,000& =1,000ha 200,000
sy SEAE 19,350 13,200 6,150
201 et 17,350 11,200 6,150
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OrEd =2 X M 6,000% x200 1,200
Otz 4 WM MEH
12,500& x200H 23| 5,000
ORsPsARL Solol E(SH2s) DS
2,500,000 23| 5,000
OEBXZAMY AIE82 2H4Y A&
200,000 x15AH 3,000
OSBRSSO AKX AF Mo3 ety
70,000& 15 33| 3,150
301 et A= 2,000 2,000 0
09 HAIAHI BEAZ 2,000 2,000 0
O=sgol s Aldl 24 40,000& *503] 2,000
Aetdsg 8 X4AY 104,000 0 104,000
307 212t0| & 104,000 0 104,000
02 QI2tAMAIE E X 104,000 0 104,000
OFstd 88 =4 I&
10,000, 0002 *13JH 2~ +80/100 104,000
HEASAME MAEHAS 400,000 350,000 50,000
301 et A= 400,000 350,000 50,000
12 JIEtE A= 400,000 350,000 50,000
084 HSBASMS MARYHD
200,000& *2,000ha 400,000
et 2 DEE B HAME HH=2 =2 240,000 240,000 0
301 et A= 240,000 240,000 0
12 JIEtE &= 240,000 240,000 0
OX&H B AHAEMEY Hed2
3,000 x80,0000t O 240,000
SIEHE XNEAS 1,998,686 1,866,972 131,714
= 997,843
= 1,000,843
201 LBt | 3,000 3,000 0
01 AP 22| d| 3,000 3,000 0
ORJI&dHls & ELINHH &2 EE A X
&} 1,000 *3,0000H 3,000
307 2iz2to| A 1,995,686 1,850,472 145,214
= 997,843
= 997,843
02 QIZ2IAAAIE E X 1,995,686 1,850,472 145,214
OKJI&EHIE XNEAY 1,995,686,000& 1,995,686
= 997,843
= 997,843
EXIHH XS ALY 346,020 802,569 AN 456,549
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HE: AEBsY SANA(SYHYLM/59 - &)
Sl HBAsY SLXE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 044,84
& 30,460
= 71,076
307 2iz2to| A 346,020 802,569 A 456,549
2 244,484
& 30,460
= 71,076
02 QIZ2FA AAIE E X 346,020 802,569 AN 456,549
OELMM XA 346,020,000& 346,020
2 244,484
& 30,460
= 71,076
SIOIEHIE XJAFE 12| 13,500 0 13,500
101 @1 21| 13,500 0 13,500
04 JIZtHIZ22XNSESES 13,500 0 13,500
ORJINEHE L ESHSH &E ZHHCS oA
Hl 150,000& 90! 13,500
MEHsGEHI =4 4,400,791 3,598,810 801,981
= 897,758
- 3,503,033
ASHASs A= oS 792,000 792,000 0
& 176,000
= 616,000
301 et A= 792,000 792,000 0
& 176,000
= 616,000
12 JIEtE A= 792,000 792,000 0
OXstassz2 o3 N3
871,666 x1,00021 %90/ 100 784,500
= 174,500
= 610,000
OHSASHE FUAANY HSH N
1,500,000 x5 7,500
& 1,500
= 6,000
HEA=sHER XM 3,608,791 2,806,810 801,981
= 721,758
= 2,887,033
301 et A= 3,608,791 2,806,810 801,981
= 721,758
= 2,887,033
12 JIEtE2 A= 3,608,791 2,806,810 801,981
OXSAHA=LSX =4 XN 3,608,791,000& 3,608,791
o= 721,758
= 2,887,033
22N AL 10,447,606 8,551,866 1,895,740
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 8,447,786
< 579,806
= 1,420,014
s =M 571,250 571,250 0
= 571,250
301 LEtE A= 571,250 571,250 0
= 571,250
12 JIEBHE4 3 571,250 571,250 0
Ored=sHEEN 571,250,000& 571,250
= 571,250
M AS S BEEAEH KR 5,722,500 4,974,850 747,650
= 5,722,500
201 L2l 8,590 8,590 0
= 8,590
01 At 22l 8,590 8,590 0
O# AS S SBHENEH ZRH Y]
8,590,000& 8,590
= 8,590
202 odl 16,260 16,260 0
= 16,260
01 = LH o4 1l 16,260 16,260 0
o A5 s EMdAEZH =& 04l
16,260,000 16,260
= 16,260
301 L2 A S 5,697,650 4,950,000 747,650
= 5,697,650
12 JIEBHE4 S 5,697,650 4,950,000 747,650
o A5 5 BE8A=ZA 5,697,650,000& 5,697,650
= 5,697,650
224 2l NEA=AH 1,961,000 1,791,000 170,000
= 1,568,800
= 117,660
= 274,540
301 L2 A Z 1,961,000 1,791,000 170,000
= 1,568,800
< 117,660
[ia 274,540
12JE 243 1,961,000 1,791,000 170,000
OxdEelNIEA=AN 1,961,000, 000& 1,961,000
= 1,568,800
< 117,660
= 274,540
SsAXEH B 24,650 17,900 6,750
= 24,650
201 LB-2E| 9,530 17,900 28,370




2N
X ZH -
L= B

el

1A Ao

paal
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0x
b
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M ro e
Us]
= 0 o

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 9,530
01 At 22l 9,530 17,900 AN8,370
Oed=g A= 3 9,530,000 9,530
= 9,530
202 odl 15,120 0 15,120
= 15,120
02 A0 15,120 0 15,120
EsHESHALE =& Ol
20,0003 x9H x 12«7 15,120
= 15,120
g =% ez 560,586 560,586 0
= 560,586
301 L2 A Z 560,586 560,586 0
= 560,586
12JIE243 560,586 560, 586 0
Oed=gAE= 560,586,000 560,586
= 560,586
S OFMTHGHEE X2 ALY 99,820 104,000 A 4,180
< 29,946
s 69,874
307 2201 A 99,820 104,000 24,180
< 29,946
s 69,874
02 It M AHE L 99,820 104,000 A 4,180
O=geol et EE XRAY
249,550,000& *40/100 99,820
< 29,946
s 69,874
SN2 Mol 2EEX&A 979,800 0 979,800
< 326,600
[ia 653,200
02 OI=LTHAHE &2 979,800 0 979,800
< 326,600
[ia 653,200
02 BIZIOITHOH R =R ESE NS 979,800 0 979,800
O=s%2 MHol2d XI& 979,800,000 x13] 979,800
< 326,600
e 653,200
Flls 2= A= A2H 528,000 528,000 0
= 105,600
= 422,400
301 L2 A= 528,000 528,000 0
< 105,600
= 422,400
12243 528,000 528,000 0




2M: sEXE
HE: AEBsY SANA(SYHYLM/59 - &)
& MEHAIY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OR)ls 2% % N2H A
528,000,000 528,000
& 105,600
= 422,400
SANE MAb L O (sSlSLd/ s - sE) 3,752,308 3,370,782 381,526
= 58,936
& 451,572
= 3,241,800
Al S MAX A 653,192 1,621,592 A 968,400
= 15,000
== 3,578
= 634,614
Aok XAS MAE JJBEEA AIY 42,342 20,342 22,000
201 et d| 20,342 20,342 0]
01 AP 2t 2| bl 20,342 20,342 0
OMRE J=2X HHD M
3,000,000 =10 & 3,000
OAMHXMS s0 HE 60,000 404 2,400
Ossdxg)| =X 1,692,000& 13| 1,692
OEBXZAMY AlIE2 2H4Y AFH|
200,000& x15A4 3,000
OMBRS20F HATLE aos asd
70,000& 15 53| 5,250
O Mol & A=A 2H 5,000,000 5,000
207 A F 0 | 22,000 0 22,000
01 | 22,000 0 22,000
OMg i 5)E ZSHALE Bl
22,000,000 x13] 22,000
HEYN A5 ASHERSE 380,000 380,000 0
301 LBt A= 380,000 380,000 0
12 JIEtE A& =2 380,000 380,000 0
OzEd As 2EZ2 400,000€ *950ha 380,000
SYE U=SH FHDOAA 180,000 180,000 0
402 SI2FXHE0| M 180,000 180,000 0
01 CIZEXIEANS EXZ (MMM ) 180,000 180,000 0
Osgg UssE FOAMA
90,000,000 »4= *50/100 180,000
A otM AH XN& 23,850 348,350 A 324,500
= 3,578
= 20,272
206 M = Hl 23,850 23,850 0
= 3,578
= 20,272
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15,000
12,000

27,000

Mo A

1,007,400
3,200
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Mo
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93,750
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PN sEXAB
B SA2 MM Y BN (SEHLSM/SY - 5E)
ool AZXE M HID (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 2,000
s 2,000
02 LA TEALEZ(0IETHR) 4,000 0 4,000
Oolsa s &gl XA
500,000& *10Z=*80/100 4,000
< 2,000
i 2,000
sat2 Margl 228 X & 620,400 0 620,400
= 233,100
s 387,300
402 RI2EX=20l M 620,400 0 620,400
< 233,100
s 387,300
02 LA THEALEZ(0IETHR) 620,400 0 620,400
OsttE e 22 X& 620,400,000 620,400
< 233,100
s 387,300
=g XNAX KA 62,500 62,500 0
402 RIZ2ER20l ™ 62,500 62,500 0
01 It Xt 2 AL E = (REA &) 62,500 62,500 0
O=dg&8 XA XA
25,000, 000% *5CH *50/100 62,500
dR2e23 11,727 3,430 8,297
= 5,327
< 1,600
e 4,800
LEFHR =& 5,327 0 5,327
= 5,327
201 L4l 5,327 0 5,327
= 5,327
01 At 2t 2l 5,327 0 5,327
OLFYR =4 ANRES ¥ 5,327,000 5,327
= 5,327
SSHIS0IZ EW0 IS A Y 6,400 3,430 2,970
< 1,600
= 4,800
402 RI2HXt20l ™ 6,400 0 6,400
< 1,600
[ia 4,800
02 2IZt 2 AL EZ (OIS ) 6,400 0 6,400
OZZHIZ0IR EMA JIB2E A
16,000,000 » 101 2 x40/ 100 6,400
< 1,600
[ia 4,800
2UEZ Mat 1,048,870 1,200, 360 A 151,490




PN sEXAB
B SA2 MM Y BN (SEHLSM/SY - 5E)
SRl RHSH M EERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 27,800
< 113,661
= 907,409
FHI=E BHE 54 T2AY 25,000 67,000 A 42,000
201 ¢er24E] 25,000 45,000 A20,000
01 At 2t 2l 25,000 45,000 A20,000
OJNSEZ0F NJAAMNG AtZ=22] R F&
10,000, 000& 13| 10,000
O 100 HUSEs8xE ¢ wSUM M
10,000& 2005 2,000
OZZ 100 AMSsSa=2 |54 28 &2 X
& 60,000& *500H 3,000
OR0IES SUC sS4 HESN U2 42
10,000, 000& * 13| 10,000
DFHIOtE THHHAIE K& 69,500 69,300 200
= 27,800
< 4,170
s 37,530
402 2I2H X201 M 69,500 69,300 200
= 27,800
< 4,170
s 37,530
02 QI 2 A EZ (OIS ) 69,500 69,300 200
OXFHIJLE MHIAIE XI&
22,000 *6,318. 1m* x50/ 100 69,500
= 27,800
< 4,170
s 37,530
ESsdtE =4 N&E 25,000 25,000 0
< 7,500
s 17,500
301 et A3z 25,000 25,000 0
< 7,500
[ia 17,500
12 JIEBtE &= 25,000 25,000 0
OESsdtE X 50ha*500, 000& 25,000
< 7,500
e 17,500
HER, £ I=X/M XN 15,000 15,000 0
206 M= Hl 15,000 15,000 0
01 M= 4l 15,000 15,000 0
OAE=R, & LIS XN 500, 000& *30ha 15,000
2HEERE et 2= 108,570 95,000 13,570
< 32,571
[ia 75,999




2N

H: M2 MA Y B (sEdgsd/sY - &)
ool ROISH M EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 108,570 95,000 13,570
< 32,571
s 75,999
02 QI EASEZ (01X ) 108,570 95,000 13,570
ORHEERE et 2=EXH
20,000& %10,857m" x50/ 100 108,570
= 32,571
s 75,999
db== HIJE THHHAIE 84,000 84,000 0
< 36,000
s 48,000
402 2I2H X201 M 84,000 84,000 0
< 36,000
s 48,000
02 QI EASEZ (01X TS ) 84,000 84,000 0
Ot==HIJtE THHHAIE X &
20,000& *6,000m x70/100 84,000
< 36,000
s 48,000
St 28 M2ME0 X&E 297,000 309,000 A 12,000
< 22,800
s 274,200
402 RI2EX20| ™ 297,000 309,000 A 12,000
< 22,800
[ia 274,200
01 2I2F 2 A B (REMTH ) 240,000 240,000 0
Os&g A8 H2MELD NI (ZHIFIHE)
6,000, 000& *80& 50/ 100 240,000
02 QI 2 A EZ(0OI X TH ) 57,000 69,000 A 12,000
Osdtg 48 M2MED X
6,000,000& *19& x50/ 100 57,000
= 22,800
s 34,200
IIA BIOHE ot*A K& 82,000 282,000 200,000
201 Let24d] 2,000 2,000 0
01 At 22l 2,000 2,000 0
OHZFAIXN Satazs 4 W=sul M
20,000& 100 2,000
402 RI2FXt20l 80,000 280,000 A200,000
01 212t 2 AL E = (REM ) 80,000 280,000 200,000
O=JIX HIotg otA X&
8,000, 000& x20& x50/ 100 80,000
FN=sI AE€oRA X 28,140 0 28,140
< 7,920
[ia 20,220




PN sEXAB
B SA2 MM Y BN (SEHLSM/SY - 5E)
ool RHOUISH M CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 28,140 0 28,140
< 7,920
s 20,220
02 QI EASEZ (01X ) 28,140 0 28,140
OZHMsIt A8€ot2A XA
6,700,000& *6=*70/100 28,140
< 7,920
s 20,220
Sl E=2= THHH & X3 150,000 100,000 50,000
301 LAz 150,000 100,000 50,000
12 JIEBHE4 = 150,000 100,000 50,000
O=<cl2Zu 22 Ml Hd3 X2
1,000, 000& *150ha 150,000
oS A LM KBAY 9,000 14,400 25,400
< 2,700
s 6,300
307 21201 A 9,000 14,400 A5,400
< 2,700
[ia 6,300
02 It S AHEL 9,000 14,400 25,400
ORuzAE A= 2 H XA
3,600, 000& *5ha*50/100 9,000
< 2,700
s 6,300
aAEHSLYS NJAMEH =& Z2HE 5,660 0 5,660
201 Let24d] 3,500 0 3,500
01 At 2teltl 3,500 0 3,500
OASXSLAS NJME AISEHS T H
HB2FA) 20,000& 1003 2,000
OASEH2As XFME ALEE 340
H(BEFA) 60,000 x25& 1,500
202 044l 2,160 0 2,160
01 SLHOYI 2,160 0 2,160
OUdzsXsMdst XNJAME AFEFE SF0HI(
22FA) 20,000 x3F 3 »12& 2,160
= S A=A & Fd & 150,000 0 150,000
402 RIZER20l A 150,000 0 150,000
01 U2 E2AILE X (KA 150,000 0 150,000
Odx= S AXANE & Fdl N2
100,000, 000 *3JH 2 *50/ 100 150,000
oS MAXH 705,119 312,900 392,219
= 7,609
< 2,283
s 695,227

[e)}
|




PN sEXAB
B SA2 MM Y BN (SEHLSM/SY - 5E)
Helr 0ES MK (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2HEHAY 2N 14,900 12,900 2,000
201 £B-2d| 8,900 8,900 0
01 At 22l 8,900 8,900 0
ONASE SSNE Mo S0 WA
60,000& *500H 3,000
ORUEZ BXAY AIE2 2I157] 8&H|
200,000& »12A 2,400
OXNYEsES &4 2103 ML M
20,000& =100 2,000
OANEZ SSE a4 23 Wzl s=+9
SIS 60,000& 258 1,500
301 LA Z 6,000 4,000 2,000
09 SAEHIE &S 6,000 4,000 2,000
OJUER MHHhsIt ns A2 4
40,000& x150H 6,000
TEtd AEA2 MAUXR 150,000 150,000 0
307 21201 A 150,000 150,000 0
02 LB AAFER 150,000 150,000 0
OASSHHS 54 X8
2,000, 000& *150ha*50/100 150,000
AEdE #oteA Z2RE XA 200,000 150,000 50,000
402 RIZ2EXt20l ™ 200,000 150,000 50,000
01 RIZt X2 AL E = (REA &) 200,000 150,000 50,000
Odtds goteAs Z2HE J&
10,000, 000& *40& x50/ 100 200,000
TS Ssud Bga A 15,219 0 15,219
= 7,609
= 2,283
e 5,327
307 glz2+ol & 15,219 0 15,219
= 7,609
< 2,283
fia 5,327
02 QIZtE M AHEE 15,219 0 15,219
Oxs Ssud g 24 X2
1,900& #2671 303! 15,219
= 7,609
< 2,283
i 5,327
JI=HSIHE otgUHEE S K& 150,000 0 150,000
402 RI2EX=201 A 150,000 0 150,000
01 It 2 A B (KM ) 150,000 0 150,000
OJIzdaHg otz =4 XN (ABAME
) 100,000, 000& *3J1 2 x50/ 100 150,000

_17_




2M: sEXE
M mA2 MM Y BN (SEHSSM/ S SE)
el ROIES MK (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
S0AIE BHHL X 175,000 0 175,000
307 2Iz2t0| A 175,000 0 175,000
02 DIZHEAAIRE E X 175,000 0 175,000
O20UAY sHINA XA A
35,000, 000& *10ha*50/ 100 175,000
CXMA 2 MDD 174,000 170,000 4,000
HEUHST MACHAE T Al AL 100,000 100,000 0
308 XHXIGHHMI S 0l 100,000 100,000 0
07 MR ESAA=L S 100,000 100,000 0
O'18E A HEHHF MAMOEM AIYE == 0HA
3 100,000,000 *13] 100,000
o SAsMsS 2 JIH dAs TE XIJAYE 70,000 70,000 0
307 212t01 & 70,000 70,000 0
02 Q2B AMAIE E =X 70,000 70,000 0
O JIH 348 ZE I3 AY
2,800 x50, 00071 *50/100 70,000
HEWAFE =33 U =& 4,000 0 4,000
201 LBt | 4,000 0 4,000
01 AP 22| H| 4,000 0 4,000
OHASMAST =3t UE =X 222 H&
100 «40, 0000H 4,000
2= EF X 152,000 0 152,000
SSNYER EE 112,000 0 112,000
201 gBt24d| 112,000 0 112,000
01 AR 22| H| 112,000 0 112,000
OS2I ER EES M L BEAL T2
[E=RR TN 100,000, 000& 13| 100,000
O=2«==HM &I 22537 ¢ HNE=EE
1,000,000& =103l 10,000
OAs =X @ FU=E 7Y
200,000& =103l 2,000
2= 8s 4 ¢ HE N 40,000 0 40,000
207 I & 40,000 0 40,000
01 24| 40,000 0 40,000
O22 ss&4 ¢ H3Y
10,000,000& *43| 40,000
il SH(sEdlYdd/ s - =&) 300,000 0 300,000
DY MAXA 300,000 0 300,000
AQETZ SAHAMOH AAEH XN 100,000 0 100,000
402 SI2F X201 M 100,000 0 100,000




AR DAL=

B Dlols RA(SEHSL/SY - 5E)
Sl Dlefise MAXH CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2IZEH 2 A B (KR ) 100,000 0 100,000
OADNEE SZHAH AEZEH XH
40,000, 000& 570 2~ *50/100 100,000
ADEE |o24 M2 S AME3A 200,000 0 200,000
401 Al HI K 201 I 200,000 0 200,000
01 A& Hl 198,560 0 198,560
OADNEE Feol2d Y2 2H AESA
200,000,000% *99.28/100 198,560
03 AlE 2 THHI 1,440 0 1,440
OADNEE Feol2d Y2 2H AESA
00,000, 000& *0.72/100 1,440
HE2HBH (L XA ) (INEHIIE) 147,966 171,432 A 23,466
el 2l 58,356 83,352 A 24,996
ol 2| 58,356 83,352 A 24,996
101 @124l 58,356 83,352 A 24,996
01 2= 58,356 70,224 211,868
Os=sgXa A2 222 58,356
— LA 53,520
6= 11,4013 »4H «40A| 2t %128 21,890
= 10,229 «3H «40A| 2t 128 14,730
- 82 9, 2463 x2FH +40A| 2tx 128 8,877
- 92 8,357 x2EH +40A| 2tx 128 8,023
— NS A AlZte 282+
10,0753 x 1H =40 Al 2t 128 4,836
Jl= &l 89,610 88,080 1,530
22t (s X&) 30,240 33,240 A 3,000
201 ¢er24l 29,460 32,160 A2,700
01 At 22l 29,460 32,160 22,700
OZ& Jla MRESHI 10,000& x15H «12& 1,800
OfAM SASX 2
25,0003 *15F x0. 6% A =122 2,700
OZZeglH JtECXN +¢
370,000 »3CH »23 2,220
OIZglH EW #(Z2) 300,000 *3CH *43) 3,600
OZelH E 2 (E8) 250,000 *50H 83 10,000
O=AMI EH #¢ 200,000& »2CH +83] 3,200
O=AIl A & ZEHI| 2eldl
200,000 »12& 2,400
OZctZgHI gtz 165,000& = 12& 1,980
OAME4A F=D| 2l 30,000& 10 =122 360
OsgAggs =2 100,000& = 12& 1,200




PN sEXAB
M HHE2FAH (S X)) (IIEHIIE)
& 123l CEE-ED
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
202 Od4dl 780 1,080 A 300
01 2ol 780 1,080 £300
Odldlel &2 SAIA bl
20,0003 x13H +3 780
Jl=2Zdl(sgE3ugy) 18,360 18,360 0
201 Let249] 3,120 3,120 0
01 At 22/l 3,120 3,120 0
OSAHM ALEF S| 8,000% +4Z+60L 1,920
OYRFd MEEES +2  20,000&«5F 128 1,200
202 odl 15,240 15,240 0
01 S LHOIYI 15,240 15,240 0
OSAFM AN 2 SO
20,000 *4H 92 «12& 8,640
OSAFM AR 29l SHOIY
110,000 »4H 32 53] 6,600
Jl2dt(dedsgegd) 13,590 22,890 A9,300
201 Let2d] 2,160 3,840 A 1,680
01 At 22l 2,160 3,840 A 1,680
OXstdstts d2FT S EH|
8,000%! x3% *602 1,440
O MRES #+2 20,0008 «3H 122 720
202 04l 11,430 19,050 AT7,620
01 = LH 4 Hi 11,430 19,050 AT,620
OABYSY YLEN B EF0HY)
20,0003 x3F 92 «12& 6,480
OREZ=SY ALEN 2ol SHOIY|
110,000& *3H x32 53| 4,950
Jl2Zu (D= EY) 13,830 0 13,830
201 Let2d] 2,400 0 2,400
01 At 22l 2,400 0 2,400
Ollch=sg g2 =& Sl
8,000 x3H 602! 1,440
OYRFd MRES 72 20,0008 «4H 128 960
202 Odl 11,430 0 11,430
01 = LH 4 1i 11,430 0 11,430
Ollci =g =& 22U &0
20,0003 x3H 92 «12& 6,480
Ollci =g =& 22 &0
110,000& »3H 3 «53] 4,950
Jl2dtl (Ausaey) 13,590 13,590 0
201 Let24d] 2,160 2,160 0
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PN sEXAB
M HE2IZH (s R D)(IIEH/IIE
chelr D123l
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
01 At 22l 2,160 2,160
ORISR 92 =7 Sy
8,000& »3H +60 1,440
OZRFE ARES 72 20,0002 +3¥«12& 720
202 oddl 11,430 11,430
01 SLHOIYI 11,430 11,430
OHNESR g2 =& 2 &0
20,000 *3H 92 «12& 6,480
OMESR g2 =& 22 &0
110,000 *3H 32 53] 4,950




